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1.

The base of a region between the line y=4 and the parabola y = x”. The cross sections of the solid are
perpendicular to the x-axis are:
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2. Find the volume of the solid that lies between planes perpendicular to the x-axis at x=2 and x=-2. The cross

sections perpendicular to the x-axis between the planes are equilateral triangles whose bases run from y=0 to
y=—~4-x.
S= (o~(—l/4—xl))= q-2*

2 Z

- 4 -9
3. s L5 Y
A

[~

»
§
(¢

z
VR IA w3
Zf—l{t—g—[q—ﬁ)ﬁ&= 2 -

= b
3

1§
X
<
-



A region is bounded by y = \/;, y=x-2,and, y=0. What is the volume of the solid generated when this
region is rotated around the x-axis?
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4. Aregion is bounded by f(y) =4+y,and [0,4] Find the volume of the solid if it is rotated about:
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5. Aregion bounded by y=cosx—2,y=-3, and [—7[,7[] . Find the volume of the solid if it is rotated about the
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